B

% MASSEY FERGUSON
LAWN & GARDEN EQUIPMENT

Attachment

Mfg. No. Description
1695169  Catcher, Clean Sweep, Triple

Simplicily

MANUFACTURING, INC.
500 N. Spring Street / PO Box 997
Port Washington, WI 53074-0997 USA

www.simplicitymfg.com

© Copyright 2007 Simplicity Manufacturing, Inc. All Rights Reserved. Printed In USA.

Attachment
Illustrated
Parts List

< Simplicify,
AGC0

LAWN & GARDEN EQUIPMENT

Part No.:
Rev.

1734812
04/2007

TP 400-4533-00-AT-SMA

i







Table Of Contents

PRODUCT COMPONENTS PAGES
Triple CatCher ASSEMDIET ... ettt e e e e e e e bt e e e en bt e e e e s be e e e e anbreeeeeneeas 4

Torque Specification Chart ......... ... Inside Back Cover



Triple Catcher Assembler

NOTE: Unless noted otherwise,
use the standard hardware torque
specification chart.

1695169

TN 57
Yo AN
50" Snapper Twin & //Zv/ ™ - 5 / 3
44” Snapper Twin & Triple S N e 4
, 1 l/ ~ \
50" Snapper Triple & W NN *\ /

44” SMI Twin & Triple
50" SMI Twin & Triple

38/42” Snapper Twin
& Triple

The above parts group applies to the following Mfg. Nos.:
1695169 - Catcher

Briggs and Stratton Yard Power Products Group
Copyright © 2007 by Briggs and Stratton Corporation
Milwaukee, WI, USA. All rights reserved

4 TP 400-4533-00-AT-SMA



Triple Catcher Assembler

REF NO PART NO. QTY.

1 1733546SM
2 1960404SM
3 054537MA
4 1933896SM
5 1733709SM
6 1733695SM
7 1931333SM
8 1733517SM
9 1703807ASM
10 1672023ASM
11 1917356SM
12 1917372SM
13 1664847SM
14 1733624ASM
15 1928352SM
16 1733623ASM
17 1707526ASM
18 1934654SM
19 1733627SM
20 1960033SM
21 1728976SM
22 1960717SM
23 1716870ASM
23 1716879ASM
24 1931332SM
25 1927557SM
26 1726364ASM
26 1731990ASM
27 1733946SM
28 1726578ASM
29 1960371SM
30 1930595SM
31 1935048SM
32 2171600SM
33 1960252SM
34 054563MA
35 004x71MA
36 004x24MA
37 1733885SM
38 1732552SM
39 054416ZMA
40 1928372SM
41 1930642SM
42 1731426SM
Footnotes

—_

—_ NN = = ad N = W= O = =2 NN S0 = =00 = 000 WWWoO WWLWN =N

DESCRIPTION

COVER ASSEMBLY, Triple Catcher

SCREW, Truss Head Phillips, 10 - 24 x 3/4
HANDLE, Plastic

NUT, Hex Lock, 10-24 w/Nylon Insert

CLIP, Tube Grass Bag

BAG, Triple Regular

BOLT, Carriage, 5/16 - 18 x 3/4, G5

HOOP, Triple

HANGER, Grass Bag

CLAMP, Grass Bag Plain

LOCKWASHER, Spring, 5/16

NUT, Hex, 5/16 - 18

SCREW, Hex Washer Head Taptite, 5/16 - 18 x 3/4
BRACKET, Tab Cross Support Triple

NUT, Hex Whiz Lock Flange, 3/8 - 16 (Included in Ref. No. 58)
CHANNEL, Cross Support Triple

SUPPORT, Upright

SCREW, Hex Whiz Lock Flange, 3/8 - 16 x 1 (Included in Ref. No. 58)

SUPPORT ASSEMBLY

CLIP, Hair Pin, 1/8 DIA (Included in Ref. No. 58)

BOLT, Shoulder, 5/16 - 18 (Included in Ref. No. 58)
NUT, Speed, 5/16 - 18 (Included in Ref. No. 58)
BAFFLE, Blowout L.H. 50" Mower Deck

BAFFLE, Blowout L.H. 44" Mower Deck

BOLT, Carriage, 5/16 - 18 x 5/8 (Included in Ref. No. 58)

NUT, Hex Whiz Lock Flange, 5/16 - 18 (Qty. of 9 included in Ref. No. 58)

BAFFLE, Blowout R.H. 50" Mower Deck
BAFFLE, Blowout R.H. 44" Mower Deck
ROD, Boot Mount, Deflector Prop, 44/50"
PLATE, Chute Rod (Included in Ref. No. 58)
SCREW, Hex Head, 5/16 - 18 x 3/4

SCREW, Hex Whiz Lock Flange, 5/16 - 18 x 1-1/4 (Qty. of 2 included in Ref. No. 58)

NUT, Hex Flange Two-Way Lock, 5/16 - 18
STRAP, Hood

BOLT, Carriage, 1/4 - 20 x 5/8

PIN, Latch

SCREW, 1/4 -20 x 1

SCREW, 1/4 -20 x 1/2

ELBOW, Upper Tube Poly

TUBE, Clear Poly

HANDLE, Connect Tube

NUT, Hex Keps, 1/4 - 20

NUT, Hex Flange Top-Lock, 1/4 - 20
TUBE, Boot Poly

The above parts group applies to the following Mfg. Nos.:
1695169 - Catcher

Briggs and Stratton Yard Power Products Group

Copyright © 2007 by Briggs and Stratton Corporation

Milwaukee, WI, USA. All rights reserved

TP 400-4533-00-AT-SMA



Triple Catcher Assembler

NOTE: Unless noted otherwise,
use the standard hardware torque
specification chart.

1695169

TN 57
Yo AN
50" Snapper Twin & //Zv/ ™ - 5 / 3
44” Snapper Twin & Triple S N e 4
, 1 l/ ~ \
50" Snapper Triple & W NN *\ /

44” SMI Twin & Triple
50" SMI Twin & Triple

38/42” Snapper Twin
& Triple

The above parts group applies to the following Mfg. Nos.:
1695169 - Catcher

Briggs and Stratton Yard Power Products Group
Copyright © 2007 by Briggs and Stratton Corporation
Milwaukee, WI, USA. All rights reserved

6 TP 400-4533-00-AT-SMA



Triple Catcher Assembler

REF NO PART NO. QTY.

46 1733504ASM
47 26x239MA
48 1733948ASM
49 -
50 -
51 1733903ASM
52 1673320SM
53 1910531SM
54 1732490SM
55 1732492S5M
56 1732493SM
57 1732819SM
58 1660954SM
-- 1733866
Footnotes

N o

DESCRIPTION

PIVOT, Hinge

SCREW, 1/4 x 3/4 (Included in Ref. No. 58)
PLATE, Reinforcement, Upright (Included in Ref. No. 58)
STICKER, Serial w/Bar Code (Not Serviceable)
MYLAR OVERLAY

PLATE, Reinforcement Frame

RIVET, Pop

WASHER, Rivet

FASTENER, Panel

SCREEN, 19-3/4 x 38

SUPPORT, Screen

DECAL, Warning Thrown Objects

HARDWARE BAG (Not Shown. Includes Ref. Nos.15, 18, 20, 21, 22, 24, 25, 28, 30, 43, 45,

47 & 48)
INSTRUCTION MANUAL

The above parts group applies to the following Mfg. Nos.:
1695169 - Catcher

Briggs and Stratton Yard Power Products Group

Copyright © 2007 by Briggs and Stratton Corporation

Milwaukee, WI, USA. All rights reserved

TP 400-4533-00-AT-SMA












Hardware ldentification

Common Hardware Types

Hex Head Capscrew () washer
"

@ [ [ )
Carriage Bolt

@ ammr—)

Standard Hardware Sizing

Hex Nut

When a washer or nut is identified as 1/2”, this is the
Nominal size, meaning the inside diameter is 1/2 inch; if a
second number is present it represent the threads per inch

When bolt or capscrew is identified as 1/2 - 16 x 2”, this
means the Nominal size, or body diameteris 1/2 inch; the
second number represents the threads per inch (16 in this
example, and the final number is the body length of the
bolt or screw (in this example 2 inches long).

The guides and ruler furnished below are designed to
help you select the appropriate hardware and tools.

—°
C ”
o< Inside
- ® ( - ) Diameter
o
;* \ J
s | | |
- }
- Screw, 1/2 x 2
N Body
< Diameter
| N
s
e
| N
—w
—X
R
—Q
N
—_—a

Wrench & Fastener Size Guide

1/4” Bolt or Nut
Wrench—7/16”

5/16” Bolt or Nut
Wrench—1/2”

& Torque Specifications

Torque Specification Chart
FOR STANDARD MACHINE HARDWARE (Tolerance = 20%)
Hardware : j @ @
Grade -
SAE Grade 2 SAE Grade 5 SAE Grade 8
Size Of in/lbs in/lbs in/lbs
Hardware | ft/lbs | Nm. ft/lbs | Nm. ft/lbs | Nm.
8-32 19 241 30 3.4 41 4.6
8-36 20 2.3 31 3.5 43 49
10-24 27 3.1 43 49 60 6.8
10-32 31 3.5 49 5.5 68 7.7
1/4-20 66 7.6 8 10.9 12 16.3
1/4-28 76 8.6 10 13.6 14 19.0
5/16-18 1 15.0 17 231 25 34.0
5/16-24 12 16.3 19 25.8 27 34.0
3/8-16 20 27.2 30 40.8 45 61.2
3/8-24 23 31.3 35 47.6 50 68.0
7/16-14 30 40.8 50 68.0 70 95.2
7/16-20 35 47.6 55 74.8 80 108.8
1/2-13 50 68.0 75 | 102.0 110 149.6
1/2-20 55 74.8 90 | 1224 120 163.2
9/16-12 65 88.4 110 | 1496 150 204.0
9/16-18 75 | 102.0 120 | 163.2 170 231.2
5/8-11 90 | 1224 150 | 204.0 220 299.2
5/8-18 100 | 136 180 | 24438 240 326.4
3/4-10 160 | 217.6 260 | 353.6 386 525.0
3/4-16 180 | 24438 300 | 408.0 420 571.2
7/8-9 140 | 1904 400 | 544.0 600 816.0
7/8-14 155 | 210.8 440 | 598.4 660 897.6
1-8 220 | 299.2 580 | 788.8 900 | 1,244.0
1-12 240 | 326.4 640 | 870.4 | 1,000 | 1,360.0
NOTES
1. These torque values are to be used for all hardware
excluding: locknuts, self-tapping screws, thread forming
screws, sheet metal screws and socket head setscrews.
2. Recommended seating torque values for locknuts:
a. for prevailing torque locknuts - use 65% of grade 5
torques.
b. for flange whizlock nuts and screws - use 135% of
grade 5 torques.
3. Unless otherwise noted on assembly drawings, all torque
values must meet this specification.

3/8” Bolt or Nut
Wrench—9/16”

7/16” Bolt or Nut
Wrench (Bolt)—5/8”

Wrench (Nut)—11/16”

1/2” Bolt or Nut
Wrench—3/4”








<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket true
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails true
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo true
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /Courier
    /Courier-Bold
    /Courier-BoldOblique
    /Courier-Oblique
    /Helvetica
    /Helvetica-Bold
    /Helvetica-BoldOblique
    /Helvetica-Compressed
    /Helvetica-Condensed
    /Helvetica-Condensed-Black
    /Helvetica-Condensed-BlackObl
    /Helvetica-Condensed-Bold
    /Helvetica-Condensed-BoldObl
    /Helvetica-Condensed-Light
    /Helvetica-Condensed-LightObl
    /Helvetica-Condensed-Oblique
    /Helvetica-ExtraCompressed
    /Helvetica-Oblique
    /Helvetica-UltraCompressed
    /Times-Bold
    /Times-BoldItalic
    /Times-Italic
    /Times-Roman
    /ZapfDingbats
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth 8
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /FlateEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth 8
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /FlateEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


